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QUESTION 1

You are asked to provide a proposal for a service provider\\'s OSPF network. The customer is concerned about the
volume of link-state advertisements within their network and want to limit this traffic. Given this scenario which design
component would satisfy the customer\\'s requirement? 

A. Use the same AS number. 

B. Use multiple areas. 

C. Use multiple levels. 

D. Use the same router IDs. 

Correct Answer: B 

 

QUESTION 2

Your company is designing a new data center in a remote location that must be connected to your local data center.
You have a service provider connection between the CE devices at each site. You want to implement EVPN with
VXLAN services between sites, but the service provider does not offer EVPN services. Which two statements are true in
this scenario? (Choose two ) 

A. The provider\\'s edge devices must map your VXLAN VNIs to MPLS LSPs within the provider network at each site 

B. The customer\\'s edge devices within your data center can act as VXLAN Layer 2 gateways 

C. You can still implement EVPN service across the service provider as long as there is IP reachability between the
sites. 

D. The service provider must provide an MPLS-based VPN connection between sites 

Correct Answer: BC 

 

QUESTION 3

Your customer connects to their service providers using fiber-based Ethernet connections in a shared 

collocation room. The customer has expressed concerns about wire tapping and man-in-the-middle 

attacks, and has asked for your design recommendation to minimize such attacks. 

Which service addresses the customer\\'s concern? 

A. 802 1x 

B. MACsec 

C. BGPFIowSpec 

D. 802 3ad 
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Correct Answer: B 

 

QUESTION 4

Your customer requires redundant routers and wants to use VRRP for the default gateway at their Internet edge. Which
two statements are correct in this scenario? (Choose two ) 

A. VRRP will only support two routers 

B. The VRRP master and backup send advertisements to each other at regular intervals. 

C. VRRP dynamically elects master and backup routers 

D. VRRP for IPv6 provides a much faster switchover to an alternate default router than IPv6 neighbor discovery
procedures 

Correct Answer: BC 

 

QUESTION 5

You are designing several MPLS virtual routing and forwarding (VRF) instances on all provider edge (PE) routers.
Routes within each VRF should be exchanged between all PE routers provisioned for that VRF. For each VRF routing
instance which two attributes must match on all related PE routers? (Choose two ) 

A. interfaces 

B. instance type 

C. VRF target 

D. router ID 

Correct Answer: BC 

 

QUESTION 6

Which technology allows a router to continue to forward packets even if the routing protocol adjacencies go down? 

A. nonstop bridging 

B. nonstop routing 

C. graceful restart 

D. graceful Routing Engine switchover 

Correct Answer: C 

 

QUESTION 7
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Exhibit: 

You work for service provider B that wants to implement a hot potato routing policy on the network so that router C uses
link C-A to reach service provider A\\'s advertised routes and router D uses link D- B to reach Service Provider A\\'s
advertised routes Currently traffic from router C is traversing the core to exit the network on router B . Referring to the
exhibit, what are two design actions that would satisfy the requirements? (Choose two.) 

A. Implement BGP-ORR 

B. Configure new IBGP neighbors between routers C and A and routers D and B 

C. Implement BGP-LS 

D. Configure the route reflector to send multiple copies of a route learned from different IBGP peers to its clients. 

Correct Answer: BD 

 

QUESTION 8

You are asked to design a Cloud CPE solution that can dynamically add new sites to an existing MPLS Layer 3 VPN.
The CPE for each new site must support the service chaining of multiple VNFs. Which Juniper Networks Cloud CPE
solution supports these requirements? 

A. Distributed Cloud CPE - Managed Internet 

B. SD-WAN 
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C. Centralized Cloud CPE 

D. Distributed Cloud CPE - Option 1 

Correct Answer: D 

 

QUESTION 9

Your customer\\'s WAN edge connects to two service providers SP-A and SP-B. The customer is advertising a single
/22 subnet to both service providers through EBGP peering sessions. The customer wants to influence inbound traffic to
the advertised /22 destination prefix so that it passes through SP-A when both paths are operational. Which action
meets the customer\\'s requirement? 

A. Advertise the prefix to SP-B with a higher local preference. 

B. Advertise the prefix to SP-A with a higher local preference. 

C. Prepend your AS number multiple times on the prefix advertised to SPA. 

D. Prepend your AS number multiple times on the prefix advertised to SP-B. 

Correct Answer: D 

 

QUESTION 10

You work for a service provider that offers L3VPN services to its customers. While designing L3VPN 

solutions for customers, you sometimes need to share routes between routing instances as part of the 

design. 

What are two reasons for sharing routes between routing-instances? (Choose two) 

A. so customers can reach the Internet 

B. to allow the service provider\\'s OoB network to be reachable by customers 

C. so customers can reach the service provider\\'s public cloud infrastructure 

D. to support network address translation 

Correct Answer: AC 

 

QUESTION 11

You are asked to prepare a design proposal for a new enterprise customer. You must ensure that all traffic is routed
through and inspected by an SRX Series device located at the corporate headquarters. In this scenario which solution
should be used? 

A. Use a full mesh SD-WAN solution 

JN0-1361 PDF Dumps | JN0-1361 VCE Dumps | JN0-1361 Braindumps                                5 / 7

https://www.pass4itsure.com/jn0-1361.html
https://www.pass4itsure.com/jn0-1361.html
https://www.pass4itsure.com/jn0-1361.html


https://www.pass4itsure.com/jn0-1361.html
2024 Latest pass4itsure JN0-1361 PDF and VCE dumps Download

B. Use a full mesh Layer 3 VPN solution 

C. Use a Junos Fusion Enterprise solution 

D. Use a hub-and-spoke Layer 3 VPN solution 

Correct Answer: D 

 

QUESTION 12

Your customer is deploying a multi-tenant data center and needs help with the WAN edge design. What are two main
design considerations for this environment? (Choose two) 

A. support for Virtual Chassis Control Protocol 

B. support for unified threat management 

C. support for Network Address Translation 

D. support for data collection and analysis 

Correct Answer: CD 

 

QUESTION 13

You work for an organization providing hosting services for customer application VMs Traditional, your organization
maintained isolation between customer workloads by assigning unique VLAN IDs to each customer network. Your
organization is approaching the upper limit of 4094 VLANs available to uniquely identify customer networks You need to
alleviate this limitation and provide more than 4094 unique network identifiers. Which technology would satisfy these
requirements? 

A. VXLAN 

B. MPLS 

C. MP-BGP 

D. EVPN 

Correct Answer: A 

 

QUESTION 14

You are asked to design a DDoS prevention system to help mitigate denial-of-service attacks that target 

your customers. The management group wants to know the effect remote triggered black holes may have 

on current network operations if they are implemented as a solution. 

Which three statements are correct in this scenario? (Choose three ) 
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A. RTBH can automatically deled denial-of-service attacks and block traffic destined to the target. 

B. RTBH can block legitimate user traffic in the network. 

C. RTBH can detect the origin of an attack, regardless of NAT technologies. 

D. RTBH can block all traffic based on the source of an attack. 

E. RTBH can block all traffic based on the destination of an attack 

Correct Answer: ADE 

 

 

QUESTION 15

Your applications are migrating from a legacy data center to an EVPN over a VXLAN-based VM environment. A few
critical legacy applications not support this environment and must remain on bare metal servers and the applications
must be able to access the Internet. What must be included in the VXLAN design to satisfy these requirements? 

A. VTEP tunneling 

B. VXLAN gateway 

C. SR-IOV 

D. nested VM capability 

Correct Answer: B 

https://www.juniper.net/documentation/en_US/releaseindependent/solutions/topics/concept/solutionevpn-vxlan-
understanding.html 
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